
Multiply by 10

1. 60 = 6 x 10

2. B

3. A is <; B is =; C is > 

4. Various answers, for example: 5 x 10 = 50, 6 x 10 = 60, 7 x 10 = 70. 

5. Lyra bought 7 bags. If she gives one bag away, she will have 60 eggs left, because 7 –

1 = 6, and 6 x 10 = 60.

6. Kel is correct because the highest possible number on each die is 6. 6 + 6 = 12 and 12 

x 10 = 120. Sufjan is incorrect because it is impossible for them to make 0 x 10 or 1 x 10, 

as the lowest possible total across the two dice is 1 + 1 = 2. 
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